EARAZROREIERT — 2 N—XBISY —F 20125118248 (£) 5E=ER7H

el b SR 2 KRR BT Eih ‘[fﬂi] E ‘[%iﬂ%lﬂsﬁl] — | & (& 12000
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
110l FYV—LnyT # o2 | ek 1:(1_2).5 -1 377 — | 5 :1234) fﬁ%%—%?—x "
RixAaR—=5— B:h=FKINVHE &l —%

2 7|/ =k 2J H o2 éﬁé%*ﬁ— 1(:11/22.>6 77 |871| — | 2 | 502 ;gi é?%)
A:Giant’s Causeway R:/N131—XZJL -4 #HREHt /-2
3 S E=EA o2 g%lﬂomﬁ? 1:12.8 14-13 | 36.3| — 11 526 %ﬁgig €39
: 11/4 | =E
Qv ENELI N BT e 0 e we
SRR . ) p—
4l8lis = 5P P o2 gg%%‘u (11.113/.40) 2-2 38.1 1 <4+75) g;igé%i)
R:772VI7 B:A—HYLFv—L = RE
50710 K> b&yF3— o2 55-0»%—» 1:13.5) 55 76| — | 3 | 448 ﬁgzm (®=®)
2 . (v€ 5
LY IINIF— BETIAA-I #2) EEickie
6 4| 75%y b2aT H o2 é|5|.%01§: 1(713t; 3-3 38.0| — 7 | 458 g%g% (&ER)
RHIRTA TSR B:TTT—910F— (-4) RITHS
71gl1a4| KA MEY =T it 2 gg_ﬂgél 1(:11/32.>2 5-5 37.8| — 13 (4_646) f’;ﬁ:if%? "
RTTRRAFFL BAYIVIS ek
s 2 | EHEBZ 1:13.2 9-9 37.3| — 8 450 | REIER (RR)
EHH YATVT a51.0 () ) |FEEZ
L:TAIWVRTyYa B:XAXAH/797H— 797777 =L
> B . . _ =
97|13 I 2V =7 w2 e Y M e ‘ ‘Iﬁ? LA Sy s— % 2
R:vA2ISY B:xAA—TN)—7 e
1olle | v TLa # 2 | HER- L8 &8 |37.9] — | 6 :Z? FREE (R
R:TNhtEy b BiAYSaITU— b £ H IS
- A~ . " _ =N
i1l X1 avasvsy 2 %?ﬁu 1(.31/?:{)8 99 |37.9 9 <4+2:) iiﬁm@%)
RixAavk-5— B:7>Yr5207> AKX B
12 3 SEILI XA AY [B] o2 %\%ﬁbi‘ 1(:;/;4.)9 12-11 37.6| — 14 | 486 %Eg: (TH)
LTI BHYII-Z S 1 S A Sy
1315/ 9 J =Y Ny - > 2 ?g%f§1§ 1;(175).1 1-11 38.9| — 10 | 442 éé;é (ER)
QTN EAfO— B:5TU—~L 0 lgn
14 o| TN Ry 4 2 ;!;;‘BHEE 1:(125).4 12-14  [39.0| — 12 | 420 %Eg €39
LY I75TLIF b BNy E—TLX (=) H HE
515! 8 SENLATTY it 2 Zﬁ%i—ﬂﬁ 1:(135).9 14-15 | 39.2| — 15 | 434 g&fg%z (FEH)
QT FAFAF-XHY BANAT DY 2 | ey st
@ 21 L
£ 49.2-37.7
NA>ZA L | 12.4-10.9-11.5-12.2-12.4-13.1
® 1—F—@EBIERL
13—7F-
2ol=5"=
Ja=77= (x10,15)-(4,13) (12,14)7,6(1,11)9(3,2) (5,8)
43—+ — (¥10,15) (4,13) (12,14)7,6(1,11)-(3,9)5-2,8
[ N5
BB 10 1,070 714K 7-10 1,130 e E 4-6 1,620 JEE 5-7-10 69,280/
# B 10 500M 5-10 10,210 B = 7-10 2,940M JEH 10-7-5 373,130
7 230M 5-7 6,000 B H 10-7 6,770MH
5 2,000

ABICOVWTRDTEEERROODE. TR LIV,



